15.11.00	0 (01/13)			LOS ANGELES	S POLICE	DEPAR	RTMEN	Т		PA	GE 1	OF 1
DATE 04/29	/2015		SUPPLY ORDER Operating Supplies Divisional (Budget) Allocation							DIVISIO	DIVISION ORDER NUMBER	
DIVISIO	N MAKING REQUE	ST	MAIL STOP 400			TELEPHONE NO. (213) 486-8740		FAX NO.			NO. (SERIAL #)	
	QUANTITY	UNIT	ITE	M DESCRIPTION		ITEM NUMBER ACCT.		ACCT.	CACF	UNIT PRICE		TOTAL PRICE
1	2	ea	Surface Pro3;1	28gb;CMMR SC EN/XE	DUS				ACCOUNTING CODE		946.19	\$1,892.38
			Canada HW I5	SD 6/20				ACCOUN				
2	2	ea	Surface Pro3 T	ype Cover Black Engli	ish SD 6/20	RF2-00	001		200028	2 9	\$94.71	\$189.42
			For:Keyboard					Budget Ref	2010			
3	2	ea	Surface Arc Touch Mouse SE CMN		Bluetooth	P9X-000	02	Dept I() Fund	339	- \$	\$54.63	\$109.26
		EN/XD/ES HDWR		/R				Appr Unit	20FSJ	0		
4	2	ea	Surface Pro3 Black Sleeve MAROO Lea		eather	MR-MS:	3306	Object	530		\$25.76	\$51.52
			Magnetic Front Cover F/IPAD					Unit				10 E 1
		A	SMART POLICIN FOF550 - SUP				Work Orde Task	r				
			NEAL # 37185 05/05/15				Sub Task					
	2	eq	1	EE C NEW				jong	5/18/	27 \$	3.00	\$ 6.00
				NTINUATION SHEET) eration LASER Grant.				0	SUB-TOTAL FOR ALL PAGES			\$2,248.58
r unu	ou by onlarer o	mong- n	inplementing op					-	TAX (9.0%)			\$201.83
								-	TOTAL			\$2,450.41
VENDOR (ONLY ONE VENDOR PER SUPPLY ORDER NUMBER) En Pointe Technologies Inc.					DELIVER TO (SPECIFY L		IME, DATE	, AND ANY SPE	ECIAL INSTRUCT	IONS)		
APPROVED BY (COMMANDING OFFICER OR DESIGNEE) SERIAL NUMBER					upply Se	ction (M	Vanda Watk	(ins)			LIVERY ADDRESS	
	OR RANK OF PERS	SON APPRO	DVING	DATE 04/29/2015	555 Ramirez Street, Space 212 Los Angeles, CA 90012							IL STOP
NO.		19 H		DO NOT	WRITE BELO	W THIS LIN	E			1	1125	
RECEIV	ED BY (SIGNATUR	E)		RECEIVED BY (PRINT)	SERIAL NI		ERIAL NUMBEI	AL NUMBER		DATE		
P-REQ	NUMBER				PURCHASE	ORDER NU	JMBER		4	-		E.



Los Angeles Police Department Information Technology Divison Quote

Attn: Wanda Watkins Quote# 005222015-LAPD

Part Number	Description/Title	Qty	Unit Price	Extended Price	
QF2-00001	SURFACE PRO 3 128GB CMMR SC EN/XD US CANADA HW I5 SD 6/20		\$946.19	\$1,892.38	
RF2-00001	SURFACE PRO 3 TYPE COVER BLACK ENGLISH SD 6/20 Comment: For Keyboard	2	\$94.71	\$189.42	
P9X-00002	SURFACE ARC TOUCH MOUSE SE CMMR BLUETOO EN/XD/ES HDWR	2	\$54.63	\$109.26	
MR-MS3306	SURFACE PRO3 BLACK SLEEVE MAROO LEATHER MAGNETIC FRONT COVER F/IPAD	2	\$25.76	\$51.52	
	Recycle Fee	2	\$3.00	\$6.00	
			Sub-Total	\$2,248.58	
			Tax 9%	\$201.83	
			Total	\$2,450.41	

Thank you for the opportunity to provide this quote.

PLEASE READ CAREFULLY:

This quotation supersedes any previous written or verbal quotations from En Pointe and this quote is valid for (30) days from the date of this letter. This price quote is for planning purposes only. Prices are subject to change without notice. Please note that the quote is valid at time of issue.

Regards, Omer Sabir| Govt. Inside Account Manager | En Pointe Technologies | www.enpointe.com Office: 310-337-5200 Fax: 310-258-2372

	Golden Star Technology, Inc. DBA: GST	Quotation	Quotation				
Information Technology Solutions	13043 166th Street, Cerritos CA 90703, USA	Date Apr 24, 2015	Expiration Date May 24, 2015				
	t. 800-833-0128 f. 562-345-8714	Doc # GSTQ1226	655				
	http://www.gstes.com	GST Sales Rep Yen Ma yma@gstes.com					
Customer Info	Bill To	Ship To					
LAPD Wanda Owens 555 Ramirez Street SPC 212 Los Angeles, CA 90012 United States	LAPD Wanda Owens 555 Ramirez Street SPC 212 Los Angeles, CA 90012 United States	LAPD Wanda Owens 555 Ramirez Street SPC 212 Los Angeles, CA 900 United States	12				
Phone	Phone	Phone					
Fax	Fax	Fax					

	r.o. Humber	Tenns		omp via	CONTRACTOR	Uai	Hel Account	π
		Net 30						
Item	D	escription	MFR	Part #	Qty	Tax	U. Price	Total
1	MicrosoftSurface Pro3 English,Canadian Fren	128GB Commer SC ch US/Canada 1 License i5	Microsoft	QF2-00001	2	Y	\$987.46	\$1,974.92
2		- Srf Pro 3 Commer SC ch,Spanish a 1 License	Microsoft	3QM-00001	2	Y	\$153.65	\$307.30
3	Surface Pro 3 Type Co	ver Keyboard Commer Hdwr Black	Microsoft	RF2-00001	2	Y	\$99.87	\$199.74
4	Microsoft ARC Touch N EN/XD/ES 1 License	Nouse SE Commer Bluetooth	Microsoft	P9X-00002	2	Y	\$57.61	\$115.22
								#0 507 40

SubTotal	\$2,597.18
Taxable	\$2,597.18
Tax (9.00%)	\$233.75
Shipping	\$0.00
Total	\$2,830.93

Thank you! We value your business and look forward to working with you.

Terms and Conditions

This price list is a quotation only and is not an order or offer to sell. No contract for sale will exist unless and until a purchase order has been issued by you and accepted by Golden Star Technology ("GST"). The prices contained in this quote may not be relied upon as the price at which GST will accept an offer to purchase products unless expressly agreed to by GST in writing. Products quoted were selected by GST based on specifications available at the time of the quotation. Product specifications may be changed by the manufacturer without notice. It is your responsibility to verify product conformance to specifications of any subsequent contract. All products are subject to availability from the manufacturer.



Los Angeles Police Department Information Technology Divison

Attn: Wanda Watkins Quote# 04282015-LAPD

Part Number	Description/Title	Qty	Unit Price	Extended Price
QF2-00001	SURFACE PRO 3 128GB CMMR SC EN/XD US CANADA HW I5 SD 6/20	2	\$946.19	\$1,892.38
RF2-00001	SURFACE PRO 3 TYPE COVER BLACK ENGLISH SD 6/20 Comment: For Keyboard	2	\$94.71	\$189.42
P9X-00002	SURFACE ARC TOUCH MOUSE SE CMMR BLUETOO EN/XD/ES HDWR	2	\$54.63	\$109.26
MR-MS3306	SURFACE PRO3 BLACK SLEEVE MAROO LEATHER MAGNETIC FRONT COVER F/IPAD	2	\$25.76	\$51.52
			Sub-Total	\$2,242.58
			Tax 9%	\$201.83
			Total	\$2,444.41

Thank you for the opportunity to provide this quote.

PLEASE READ CAREFULLY:

This quotation supersedes any previous written or verbal quotations from En Pointe and this quote is valid for (30) days from the date of this letter. This price quote is for planning purposes only. Prices are subject to change without notice. Please note that the quote is valid at time of issue.

Regards,

Omer Sabir| Govt. Inside Account Manager | En Pointe Technologies | www.enpointe.com Office: 310-337-5200

Information Technology Solutions		DBA: GST	Golden Star Technology, Inc. DBA: GST 13043 166th Street, Cerritos			Quotation Date Expiration Date					
	innation rectificiogy soluti	CA 90703, USA	CA 90703, USA t. 800-833-0128 f. 562-345-8714			Apr 24, 2015			May 24, 2015		
						Doc # GSTQ122655					
		http://www.gste	s.com		GST Sa Yen Ma 562-345 yma@g	5-875	52				
Customer Info		Bill To	Bill To			Ship To					
LAPD Wanda Owens 555 Ramirez Street SPC 212 Los Angeles, CA 90012 United States		555 Ramirez SPC 212 Los Angeles,	Wanda Owens 555 Ramirez Street			LAPD Wanda Owens 555 Ramirez Street SPC 212 Los Angeles, CA 90012 United States					
Pho Fax	ne	Phone Fax			Phone Fax	9					
	P.O. Number	Terms		Ship Via			Car	rier Accou	nt #		
	· · · · ·	Net 30									
ltem	Desc	ription	MFR	Part #	G	lty	Тах	U. Price	Total		
1	MicrosoftSurface Pro3 128 English,Canadian French I		Microsoft	QF2-00001		2	Y	\$987.46	\$1,974.92		
2	2 Microsoft Docking Stn - Srf Pro 3 Commer SC English, Canadian French, Spanish a 1 License		Microsoft	3QM-00001		2	Y	\$153.65	\$307.30		
			ok Microcoft	RF2-00001		2	Y	\$99.87	\$199.74		
3	Surface Pro 3 Type Cover	Keyboard Commer Hdwr Blad									
3 4	Surface Pro 3 Type Cover Microsoft ARC Touch Mou EN/XD/ES 1 License		Microsoft	P9X-00002		2	Y	\$57.61	\$115.22		
	Microsoft ARC Touch Mou			P9X-00002			Y SubTc	•	\$115.22 \$2,597.18		
	Microsoft ARC Touch Mou			P9X-00002				otal			
	Microsoft ARC Touch Mou			P9X-00002			SubTo Taxab	otal	\$2,597.18		

Thank you! We value your business and look forward to working with you.

Terms and Conditions

This price list is a quotation only and is not an order or offer to sell. No contract for sale will exist unless and until a purchase order has been issued by you and accepted by Golden Star Technology ("GST"). The prices contained in this quote may not be relied upon as the price at which GST will accept an offer to purchase products unless expressly agreed to by GST in writing. Products quoted were selected by GST based on specifications available at the time of the quotation. Product specifications may be changed by the manufacturer without notice. It is your responsibility to verify product conformance to specifications of any subsequent contract. All products are subject to availability from the manufacturer.

\$0.00

\$2,830.93

Shipping

Total